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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.
(3) Statistical tables and graph papers will be
provided on request.

1 (a) Explain : 10
(1) Variations in quality
(2) Theory of runs.

() Draw X and R charts from the following data : 10
and give your decision about production process.

SampleNo.: | 1 |2 |3 |4 |56 |78
Mean : 38133140 (43|32 (24 (3545
Range : 16 {12 8 [13 |11 20|12 |15

[n =5, A, = 058, D; =0, D, = 2.12]
OR
1 (a) Explain : 10
(1) Single sampling plan.
(2) Difference between charts for variables and charts
for attributes.
(b) From the following data draw np chart. Decide 10
whether the production process is under control or not

SampleNo.: | 1 [ 2 |3 |4 | 5|6 |7 |8|9]10
Sample Size : | 50 | 50 | 50 | 50 | 50 | 50 | 50 | 50| 50 | 50
No.ofdef : [ 4 |3 |2 |3 4|54 ]|2]|3 |1

2 (a) Explain : 10
(1) Components of time series and its analysis
(2) Input-output analysis.
OR
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(a) Fit the second degree parabolic curve to the 10
following data and estimate the production for the year
2017 :

Year : 2011|2012 | 2013 | 2014 | 2015 | 2016
Production : | 100 | 107 | 128 | 140 | 181 | 192

(b) Obtain the forecasting about sales of the following 10
different years taking o = 0.4 and initial forecast 100 :
Year : 1911 | 1912 | 1913 | 1914 [ 1915 | 1916

Sales (in thousand) : | 110 | 120 | 121 | 125 | 124 | 122

3 Explain : 15
(1) Demand rule and supply rule
(2) Price elasticity of demand
(3) Market equilibrium.

OR
3 (@) For amonopoly holder demand function P = 40 — x and 8

2
cost function C =10 + 5x + x? Obtain the production to

for monopoly holder get maximum profit.
(b) Following are the functions of demand and supply 7
for this find market equilibrium price and quantity :

D :(x+16) (P+4) =200, S : x = 4P -20.

4  Explain : 15
(1) Production function and Homogeneous Production
function.

(2) Utility function and Budget equation
(3) Total utility and Marginal utility.
OR

4 (a) The utility function of consumer is U =xy + 2x 8

and budget equation is 2x + y =30. Find the values
of x and y such that utility function becomes maximum.

() If the production function Z=5-x" -y~ and 7
P=9,P =1 and P, =4 then find the maximum profit.
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